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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry









s -2 (Basic Question) | MATHS WITH SACHIN BALIYAN SIR
Nitin borrowed some money at the rate of 6% p a. 4 / X \

for the first_three years, 9% p.a. for

ye . for the period beyond eight years.
If the total in erest ‘,;_u‘- him at the end of
/the money borrowed by

m aﬁr X zlr m g st ¥ QT 9%
gfaay¥ 3iv s ast ¥ 3+ i 39 & @
13% wfaad & X @ F& v« 3UR foam IR
TARE ast & 3d & 3§F CaRT ST R
mmmawostlmmaﬂmm
frgT T a4 (39 H) 91

(a) 12,000 (b) 6,000

(c) 8,000 (d) 10,000

(e) none of these
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S| -2 (Basic Qu; stion) \ MATHS WITH SACHIN BALIYAN SIR

14000 given at Sl for . The rate of interest is
4.5% for first 2 years then 6% for ne rs &

14000 3I9F fRU v sATST &Y T
sl & AT 4.5% & 3T BT 39 5
AT 6% 3T AT §AT &F AT 11% gl 3a
A g ufr Aae? N
(a)7000 (b)16000 | ¥ \

(c)21000 (d)24000 3 s
(e) None of these. \ @
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S| -2 (Basic Question) MATHS WITH SACHIN BALIYAN SIR

A sum of money amounts t @
\\ gé 8 0

in 5 years and to 5680 in 7 years at
sumple interest. Find the rate of

asf & 5200 g AT %
7 €T # 5680 @& ] ,
aY s;TeT T & AR AU a4
87

(a) 3% , 4000 (b)4% , 4000
(c) 5%, 4000 AR) 6% , 4000
(e) None of these
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A certain sum of money amounts to 756

in 2 years and to 873 in 3.5 years at a
certain rate of simple interest. Find the

rate and P ? U& afRaa ufr .
sgTsT 9T 2 8T & 756 & SArdT & >
IE 3.5 AT & 873 & smwe) wiy an\y
STer $Y AR AAUT FAT 82
(a) 10% , 600 (b) 11% , 500
(c) 12% , 600 (d) 13%, 5
(e) None of thes




S| -2 (Basic Question) \ MATHS WITH SACHIN BALIYAN SIR

A certain sum of money invested for certain

time\then it will amount to Rs 20000 while [ 3 0000 ?5000

rate of Sl is 6% per annum and it will be

25000 when rate of SI will b‘ 8% jper ann “ | o\
. Find the time of investmeént and ‘ 6

ARTT FrT—*TIT us @Rad @ \Q, é@ g@

0 0%
\So°

fader &t STt ® ar I8 20000 I gAY
Safed SI & T 6% wfa av § 3R I§
25000 BRI S« SI &1 g 8% Wiad a¥
g1t fAder &1 FHI 3P AT FL?

(a) 50 years, Rs 5000 (b) 11 years, Rs 5000
(c) 12 years, Rs 6000 (d) 13 years, Rs 8000
(e) None of these
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A certain sum of money invested for certain

time then it will amount to Rs 710 while rate @ @

of Sl is 7% per annum and it will be 800 when

0,
rate of SI will be 10% per annum . find tl§y
time of investment and P ? ATYd ¥HY ?

S
AT vF fRTd teRRy B & o @ 2=
dar I8 710 97 g SrEfd SI fr T 7%
gyfa a¥ & 3X I8 800 &Rft 519 51 i X
10% 9 a¥ geftl @der &1 777 3R P
AT FL?
(a) 5 years, Rs 500 (b) 6 years, Rs 500
(c) 12 years, Rs 600 (d) 13 years, Rs 800
(e) None of these
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At a certain rate of simple interest a / @
certain sum of money becomes _\S

of itself in_10 years. It will @ @

become triple of itself, In how many @
years? HIYRUT SATST I Tdh
fAffad ¥ W v ARaa ufr
10 a1 # T $T A=l g STl
gl I% fFasr ¥rel & W9« 39

A e & srean?
(a) 15 years (b) 18 years
(c) 20 years (d) 30 years

(e) None of these
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At a certain rate of simple interest a
certain sum of money becomes three
times of itself in jears
become 51 times of |tself In how
many years? HATHRUT ATl &I T
fAeT a7 W & «faa ufer 4
ast #F w7 A fAeEm & S 2
Ig fhaer @l & YR 3T F 51
AT g1 SATCI?

(a) 75 years (b) 78 years

(c) 80 years / (d) 90years

(e) None of these
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At a certain rate of simple interest a
certain sum of money becomes 7
times of itself in 2 years. It will

become 121 times of itself, In how
many years? HTYRUT sgToT &I Th

ffRad g7 W ' AfRaa i 2
qsft # ¥ A 7 T4 ) AT ¢
g fhaer @rel A 9er 39 A
121 (AT g1 SATCIM?

(a) 45 years b) 58 years

(c) 40 years (d) 20 years

(e) None of these
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In what times will the SI on a .
certain sum of money becomes @P N
2 - .
- of principal @ 8% Per annum 1’/‘

?wﬁﬁaatrfﬂwﬁm -
AT # S| HAUT FT - I _ P \5(\0‘4«
u‘“}/

l—f
2RI St S4TST #Y &X 8% 5 %

gyfa a¥ §
(a) 5 yeard (b) 8 years - %Tc Q_\\'{
(c) 4 years (d) 2 years ¢

(e) None of these






